Tue, Nov 4, 2014 MATH 462, Quiz 6 Prof. V. Panferov

Spleetrons.

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Let T : V — V be an invertible linear operator. Prove that a scalar ) is an eigenvalue

of T if and only if A~! is an eigenvalue of 771,
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2. For the linear operator 7' : V' — V find a basis for the T-cyclic subspace generated by

the vector z:
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3. Test the linear operator T : V — V for diagonalizability; if T is diagonalizable find (a)
a basis [consisting of eigenvectors and (b) the diagonal matrix [T7] g:

V=C T(z,w (z +iw,iz + w).
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